MATHS TEST

AVERAGES

1.
Find the average of:


(a) 27c, 46c, 65c, 58c


(b) 34, 47, 68, 79


(c) 19, 13.6, 29.45, 7.63

(d) 34cm, 19cm, 68cm, 36cm, 43cm


(e) 4.7kg, 2.75kg, 4.625kg

2.
Find the average:


(a) 44, 52, 60, 68, 76


(b) 5¾, 7, 8¼


(c) €7.35, €6.85, €9.74


(d) 328, 347, 319, 336, 325


(e) 3¾, 4½, 7¼, 12½

3.
Find the total


(a) 5 items / average = €32.76


(b) 4 items / average = 98

(c) 7 items / average = 12kg 75g


(d) 6 items / average = 208

(e) 9 items / average = 2m 42cm

4.
15 items / average = €16.25. Find the change out of €300

5.
Average of 4 numbers = 87. Three of the numbers are 67, 85, 94. Find the 4th number.

6.
What is the average of three shirts @ €23.65 each and two shirts @ €27.85 each?
7.
I travelled an average of 65km for 5 days and then travelled 89km on the sixth day. What was the total distance I travelled over the six days?
8.
The total cost of eight books is €34.56. What is the average cost of a book?

9.
Four children get an average pocket money of €9.78. A fifth child gets €12.63. What is the average pocket money of all five children?
10.
A teacher bought seven books @ €3.28 each and three books @ €4.18 each. What was the average price of a book?
ANSWERS

1.



(a) 49


(b) 57


(c) 17.42

(d) 40cm


(e) 4.025kg

2.



(a) 60


(b) 7


(c) €7.98


(d) 331


(e) 7

3.



(a) €163.80


(b) 392

(c) 84.525kg


(d) 1248

(e) 21.78m

4.
300 – 243.75 = €56.25

5.
348 – 246 = 102

6.
70.95 + 55.70 = 126.65 ÷ 5 = €25.33

7.
325 + 89 = 414km

8.
34.56 ÷ 8 = €4.32

9.
39.12 + 12.63 = 51.75 ÷ 5 = €10.35

10.
22.96 + 12.54 = 35.50 ÷ 10 = €3.55
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